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10.

11.

Instructions to Students
This Question Booklet contains 100 questions.

All questions are compulsory. Each question carries
one mark and there will be no negative marking.

Each correct answer will be awarded one mark.

Write your Eleven digit roll number as allotted to you
in the admission ticket clearly on the test booklet.

During the examination,
* Read the questions carefully.

e Completely darken/shade the relevant oval
against Question No. in the OMR answer sheet
using blue/black ball point pen. Do not try to
alter the entry and not to do any stray marks
on OMR Sheet.

e Example:Inaquestionbookletif No. 3isthe correct
answer for Question No. 20, then in the OMR
answer sheet, shade circle 3 using blue / black
ball point pen as follows.

20) @ @ . @ (This is an example only)

If more than one oval is darkened for a given
question, such answer is treated as wrong and no
marks will be given.

The Student and Room Supervisor should sign
in the OMR sheet in the space provided.

Candidate should return the answered OMR sheet
only to the Room Supervisor before leaving the
examination hall.

The calculator, mobiles and any other electronic
equipments are not allowed inside the examination
hall.

English version of the question paper will be
considered as final, in case of any dispute arising
out of variation in translation version.

Rough work can be done in the place provided in
the Question Booklet.
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If the word FRUIT is coded as 58281,
then the word GRAPES is coded as:

1) 608604
2) 680460
3) 680640
4) 686040

If the word GARDEN is coded as 49,
then the word FLOWER can be coded
as:

1) 40
2) 59
3) 79
4) 99

If the word HOCKEY is coded as
NGJBXD, then the word TENNIS is
coded as:

1) DSMMRH
2) DSMRHM
3) DSRMHM
4) DRSMMH

In some code language if the word
FRAGRANCE can be coded
as SBHSBODFG, then the word
IMPOSING can be coded as:

1) NQPTJHOJ
2) NQPTJOHI
3) NQPTJOHJ
4) NQTPIJOHJ

NTSE GMAT P-1 (K-10)

FRUIT 20w m:wm& 58281 Qom»
50332338, GRAPES 20w msm& &en
DOTCSTLIDOTH:

1) 608604
2) 680460
3) 680640
4) 686040

GARDEN aow wwm‘i 49 Q0T
no3e2238, FLOWER Qow wcsssad &en
DOFCS[TDOT:

1) 40
2) 59
3) 79
4) 99

HOCKEY 202 wcswmq NGJBXD oz
50332338, TENNIS QoW acssmq &en
DOTCSTLIDOTH:

1) DSMMRH
2) DSMRHM
3) DSRMHM
4) DRSMMH

0w Zodes eXoR® FRAGRANCE
NOW mwm‘& SBHSBODFG @0t w333,
IMPOSING 0o TTITTY, &en
OB BUIOT:

1) NQPTJHOJ
2) NQPTJOHI
3) NQPTJOHJ
4) NQTPJOHJ
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Directions : (Questions : 5 - 7) BRWRNW : (JJned : 5-7)
In the questions given below the numbers 32 R &r¢i0o= IFRYQY, $FIRYOHT Bo3ned

in the figures are related. Identify their o JDFY Oc3BRT FoWOFTTY, BRWDT.
relationships and find the missing numbers 3 BowoEIT, T2 WITY Wy, TRCNTLE

in the given figures: BOBNTT, TOW WROWL:
5. 15 18 27
18 17 3 30 15 6 36 ? 9
4 8 12
1) 21 ) 21
2) 19 2) 19
3) 18 3) 18
4) 16 4) 16
6 48 50 72
72 13 23 40 15 35 89 ? 63
26 100 65
1) 17 1) 17
2) 20 2) 20
3) 23 3) 23
4) 27 4) 27
7 5 5 8
16 5 2 10 3 3 17 ? 5
3 2 6
1) 6 1) 6
2) 5 2) 5
3) 4 3) 4
4) 3 4) 3



Directions : (Questions : 8 - 10)

Complete the given figure analogy by
choosing the correct answer from the given

alternatives:

8

2)

XX
8

2)

©

N

2)

1

=
s

.
?%X

.
-

NTSE GMAT P-1 (K-10)

BedNne 1 (JJnw ¢
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Directions : (Questions : 11 - 15)

The following questions are based on figures
given below. Each circle represents one
item. Match the figure with items in the
question on the basis of their relationship:

TRWIND (@%ﬂ% : 11 -15)

FENT TJNeh BRYHLT $FINET, $POA.
B3RO [ITH) WOW WOBIT, BRUDIT.
TZNEOT ©oIned BeoNTeT HoWOFNET,
TOWRRW $TINYR Jeed

QWO & @

11. Females, Mothers, Teachers.
1) A
2) C
3) D
4) E

12. Table, Chair, Furnitures.
1) A
2) B
3) C
4) D
13. Men,Women, Players.
1) C
2) B
3) A
4) E

14. Days, Months, Years.
1) A
2) D
3) C
4) E

D) E)

11. 20033, 3003003, égsda.

=2

) A
C
3) D
E

12, ez, 328, LeBRCTTTLONE:.
1) A
2) B
3) C
4) D
13. no®=Th, FonzTy, SE3MTT:.
1) C
2)
3)
4)

o > W

14. QTRsh, Sonehned, SRENS.
1) A
2) D
3) C
4) E
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15. Piano, Potato, Axe. 15. 23R, soRnd, 3RD.
1) B 1) B
2) A 2) A
3) C 3) C
4) D 4) D
Directions : (Questions : 16 - 17) BRWINW : (JJnwd 116 - 17)

In the following figure triangle represents 32 NS BIRY PP T BeIDHTZTTR, D)
those who drink coffee, circle represents 3o BeIRTITT), 1PTF) Tows BeIBTTTI,
those who drink tea, square represents those 523 $oh3R) TeER ST BeQWTTTRY, JEAPTST.
who drink milk and rectangle represents  #3TY IRYHT @TIOPRY, SFOX B FUNS
those who drink fruit juice. Based on the  ZFner evgox:

figure answer the following questions:

. Drink coffee
Drink tea TP BRI
WTD BEADRITTL < / 3 5 7
Drink milk 2 / 6 B Drink Fruit juice
T BB BeNDHTIDH
e AT —— i 38 TF Redm

16. Which number represents those who  16. ©3%»% ZTog3 o3 e, e Ty Tow

drink coffee, tea and milk? ﬁcammm& BRWTST?
1) 3 1) 3
2) 9 2) 9
3) 4 3) 4
4) 6 4) 6
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17. Which number represents those who
drink only tea and not coffee?

) 9
2) 8
3) 5
4y 7

18. If the product of 1K and K1 is K2K then
the letter K stands for the digit:

) 9
2) 4
3) 3
4 1

19. The digit represented by L, E and T in
the following addition is:

LEM
+ MELT
9999

1) 4,50
2) 9,4,0
3) 4,0,5
4) 5,04

20. The product of A8 and 3B is 2730 then
the letters A and B stands for the digits:

1) 8,3
2) 7,5
3) 5,7
4) 6,5

17. 3o BROHTE D3Iy 3¢ =P, BDROITFTT,
TR ﬁoa% C3RFYTN?

) 9
2) 8
3) 5
4y 7

18. 1K =3 K18 moonymy K2K wad K
©3T7) RRWHT o

) 9
2) 4
3) 3
4 1

19. 20o= Bo30RTY L, E 23y T JQ
HOINLD:

+ M
9

o|m =

E
L
9

ol= 2

1) 4,5,0
2) 9,4,0
3) 4,0,5
4) 5,0,4

20. A8 =3 3B n¢ m:we%@ 2730 =33 A
3y B w3ondy ewms wosn:

1) 8,3
2) 7,5
3) 5,7
4) 6,5



Directions : (Questions : 21 - 23)

Following 3 questions have a certain
pattern. Each box has a single letter / digit.
The letter / digit that comes in each box is

in the order of:

21. mnl m Ilmn 1 nll

1) Ln,1,m,
2) m,n, m, m,
3) n,m, L m,

4) n7 n, 1) m)

22. a bbe aab cca bb c

1) b,a,c,b,c
2) a,c,b,a,c
3) a,c,b,b,c
4) a,b,c,a,b

23. 13 2 5

637 2

1) 4,3,3,9
2) 9,2,7,3
3) 2,7,3,9
4y 3,9,7,2

NTSE GMAT P-1 (K-10)
BRWIN: (IJned : 21 - 23)

81 IUNS 3 TJN WO ARFF ITIII,
BReoNH. T3 PTY 20T ©FT/HoZ 0N,
RRONT. T PIRY WTBeHT @3 T/HoB0H
L ielates

21. mnl m Ilmn 1 nll

1) Ln,1,m,
2) m,n, m,m,
3) n,m,l, m,

4) n,n,1l,m,

22. a bbe aab cca bb c

1) b,a,cb,c
2) a,c,b,a,c
3) a,c,b,b,c
4) a,b,c,a,b

23. 13 2 5

637 2

1) 4,3,3,9
2) 9,2,7,3
3) 2,7,3,9
4y 3,9,7,2
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24. When the given figure is folded as a
cube, which one of the formation is

possible?
F
A | E
B
C|D
/ F F
B ? E
1) 2)

25. The different faces of a cube are shown
through three folded cubes. Among the
alternatives, identify the unfolded cube
which represents these faces:

C
A B
(D
A D
B|[C|D|E A|B|C|E
F F

1) 2)

26. Name the letter on the face which is opposite

to the face that has letter ‘F’ on it:

C

A B

@)
1) B
2) A
3) E
4) C

24. 3RETT WIWIY, womWs FIeT 303N
SHRWTNR, IR SRC0ATHT BSw= a';:*m%a

wommgd?
F
A|E
B
C|D
E D
B E
3) 4)

25. 20t PIE NP DAY, VTS HAD
BHRUDT PINY Be0S BROUT. 2oL
TeIREOHALY PIE P IChT, IR
RRUIHIZ Q0T TS

E E
D F
(I1) (I10)
F
C A|E
A|B|D|E -
F
C(D
3) 4)
26. ©33 T, AeumHE 0§ SRS

T0DTEY, BRWIWT WIT CIRVPHTW?

E E
D F [y
(IT) (111

) B
2) A
3) E
4) C

10



Directions : (Questions : 27 - 29)

Identify the number of specified Geometric
shapes in the given diagrams and mark the
correct answer.

27. How many number of triangles and
parallelograms are there in the given
figure respectively?

N

/LN

)
2)
3)
4)

22,17
19,13
22,15
19, 17

28. How many semicircles are there in the
given figure?

10
14

1) 8
3 12

2)
4)

29. How many trapeziums are there in the
given figure?

AA
Nav

20
22
24
26

D
2)
3)
4)

11
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BRWIN : (Jned : 27 - 29)

Feon smgsm WINYY TRUT méméojo
es@amy sogssom& TOWY LRI mgdwm&
oS,

27. ERLITHT STICHYTLE by I TRROIT
BIVPFWNE 309367165534 BN 8o,

7N

)
2)
3)
4)

22,17
19, 13
22,15
19, 17

28. 3@%&5 e%éoﬁag DT, WPE %gﬁ@ﬁ?

10
14

1) 8
3 12

2)
4)

29. 3RYTOW SFICHQ O, TR BNOI?

AA
Nav

20
22
24
26

D
2)
3)
4)



NTSE GMAT P-1 (K-10)
Directions : (Questions: 30 - 33) BRWIN : (FJnes: 30 - 33)

Read the instructions and answer the :‘i.@2,a’a>"rie§<'\">a°z L0 IENT g%ﬁ@ﬁ VO,
following questions.

e There are five people P, Q, R, S and T. * P,Q,R, 5303 Tow i %3 33nemms.
e Among them one plays football, one ® TNOLTY W) TR SEIDI, L),
plays chess and one plays hockey. BT SWITH TN L) T SWBBI
QRS-
e PandS are spinsters and not participating ® PO STIW 90508 Rd&%TODTINGY,
in any games. QBPRYTe SRTY HPNBLARYDY.
e No women play chess or football. ® CIPYTE LY BT OTHO PEFLOST
BRRNL.
¢ In the group there is one pair of married ® MOTY TOTNPOIFT 20T ee® A,
couple and T is the husband. T 3= ©E3NTT.
e Q is the brother of R and does not play * Q TFD R T[T ZDRTBITINGY, B8F°
chess and hockey. TN TOBONT), SRV,
30. Who is the football player? 30. LS’ SWMRT O35TH?
1) P 1) P
2) Q 2) Q
3) R 3) R
4) S 4) S
31. Who is the hockey player? 31. 0% STHTHTL O3VTL?
1) P 1) P
2) Q 2) Q
3) S 3) S
4) R 4) R
32. Who is the chess player? 32. 28%5° SRDTTT O35TH?
1) P 1) P
2) R 2) R
3) T 3) T
4) S 4) S

12



33. In the group who are the women?
1) PQR
2) Q,R,S
3) PQ,S
4) PR,S

Directions : (Questions: 34 - 35)

Given below are 2 matrices containing
letters. The rows and columns are numbered
0 to 4 in Matrix I and 5 to 9 in Matrix
II. Each letter from these matrices are
represented first by its row number and the
next by its column number.

Example: Letter “S” is represented as any
of the following : 55, 67, 79, 86, 98.

Matrix I
0 1 2 3 4
0 D Vv C P M
1 P M D \Y C
2 A\ C P M D
3 M D A\ C P
4 C P M D Vv
Matrix 11
5 6 7 8 9
5 S A U T J
6 T J S A U
7 A U T J S
8 J S A U T
9 U T J S A

34. Which set of numbers will represent the
word DUST?

1) 00, 76, 86, 59
2) 31, 76, 98, 78
3) 24, 69, 55, 66
4y 12, 57, 67, 58

NTSE GMAT P-1 (K-10)
33. BHOoRYTHT FleeHTH 3RT:?

) PQ,R

2) Q,R,S

3) P,Q,S

4) PR,S

BRWRNW : (IJneh: 34 - 35)

33 39n w3 swmgmm 2 msgsmsmd 3L
m%@ I 39 0 00w 4 ==y m%@ II 39 5
oow 9 ﬁoa%m?ozs WINE T TN Y
o3 mcbn'eémd TRWAT. m%éob TS w3 :355:91
SHAT BTT W T xogﬁs DT ToIT WS
oy T 3093571@90:3 TRWRT.

YVTOT TR wad “S” eﬁsaoz % TRWBAT.
55, 67, 79, 86, 98.

Sw3g |
o [ 1 [2[]37]4
o [ DJv][c|P]|M
1|l p[M|[D[V]C
2 [ v]cl]P[M][D
3 IM|[D[Vv]c]eP
4 [c]P[M[D]V
Sw3g 11
s 16718109
sIslaJulT([y
6 [T[1]slAal]uU
7lAaJUulT 1S
g | I [ s[TaJul T
o JulrTlTi1[sTa

34. cinz Hosdi¢ neem) DUST aow Bmaa,
AR2RZH?

1) 00, 76, 86, 59
2) 31, 76, 98, 78
3) 24, 69, 55, 66

4) 12, 57, 67, 58
13
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35. Which set of numbers will represent the
word PUMP?

1) 03, 69, 03,
2) 41, 88, 23,
3) 10, 57, 23,
4) 22, 95, 43,

34
43
34
41

Directions : (Questions: 36 - 37)

Given below are 2 matrices containing
letters. The rows and columns are numbered
0 to 4 in Matrix I and 5 to 9 in Matrix
II. Each letter from these matrices are
represented first by its row number and the
next by its column number.

Example: Letter “T” is represented as any
of the following : 59, 65, 76, 87, 98.

Matrix I
0 1 2 3 4
0 A R S N C
1 N C A R S
2 S N C A R
3 R S N C A
4 C A R S N
Matrix 11
5 6 7 8 9
5 O E L P T
6 T O E L P
7 P T O E L
8 L P T @) E
9 E L P T O

36. Which word will represent the set of
numbers. 86, 12, 31, 76:

1) PAST
2) PATE
3) POTE
4) PSAT

14

35. 03w RosRY neom) PUMP aow Smam,
2RuDHI?
1) 03, 69,
2) 41, 88,
3) 10, 57,
4y 22, 95,

03,
23, 43
23, 34
43, 41

34

BeuNne ¢ (Jyneh: 36 - 37)

81 391 g dﬁ@ﬁ@ﬁﬁmow 2 ms@smsﬁ 3L
m%s I 30 0 dow 4 =3 m%@ II 3Q 5
oow 9 ﬁoﬁéﬁ@od WPYNY OT Toeonw DI
T03 TNy, TRWRT. m%@w TS WFTI,
SRTLL WET T T 50936 DIy, F0sT WTT
HoR T 5093571@033 TRWAT.

PVTRT T e.-oad “r» @md LeR TRWBAT.
59, 65, 76, 87, 98.

=038 |
o [ 1 [2[37]4
o [A[JR]S[N]C
I [ N[c]A[RT]S
2 [ SIN[C]A]R
3 RISIN[cCTA
4 [c]TAJTR[STN
Sn3g 11
sle6[ 718109
slolE[L]P][T
6 [ T[o[E[L][eP
7l P[T]OlE]L
g8 |L|P[T|]O[E
o JEJL[P]T]O

36. Zoa3iven 86,12, 31,76 rirommh, HIARHS
BEZ OIRYTH?

1) PAST
2) PATE
3) POTE
4) PSAT
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37. Which word will represent the following  37. :3093571%5 21,67,14,59 REos™y, BRWI

set of numbers : 21, 67, 14, 59? T CIRRYT?
1) PAST 1) PAST
2) RATE 2) RATE
3) POET 3) POET
4) NEST 4) NEST
Directions : (Questions: 38 - 40) BRWIN : (IJneh: 38 - 40)

Find the missing part of the given figure 2otico® ©TINLY WEPTRENI1T WIT LRSI,
from the alternatives. TOITORNYOT FOTRLROWD.

NI
O

) 2) 3) 4)

39.

) 2) 3) 4)
15
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40.

1) 2)

Directions : (Questions : 41 - 43)

Identify the wrong number / group of letters

in the series:

41. |(28,77,14,24,6,7,3

) 6
2) 7
3) 14
4) 24

42. |2, 34, 84, 68, 26, 12

1) 26
2) 34
3) 68
4) 84

3) 4)

BRWINW : (IJnwd : 41 -43)

amgpm 3eedns® 3T :30935 / BTN mowm‘i
) on [ [%Y
BOT LROWO:

41. |28,77,14,24,6,7,3

) 6
2) 7
3) 14
4y 24

42. [2,34, 84, 68, 26, 12

1) 26
2) 34
3) 68
4) 84
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43. URCNS, VPFJX, TSBOR, WOGIY, 43. URCNS, VPFJX, TSBOR, WOGIY,

STAQP: STAQP:

1) WOGILY 1) WOGIY

2) TSBOR 2) TSBOR

3) VPFIX 3) VPFIX

4) STAQP 4) STAQP
Directions : (Questions : 44 - 46) BN ¢ (JJned : 44 - 46)

The following questions are based on 33 3¢NT IFRAW WOWE® IWITY WRCRATLT
the numbers and letters arranged in the o3 N¥Ry, <oy WFTNYT, <FOAT. S
pyramid pattern. Study the pattern and  ERcEFBHRY, MDA T BRLYILT MWIBINT,
complete the given analogy: TREFRRPA:

10

NN E-"N RS E R
e
Ao | =~

1111213 (14|15(16 17|18 (19|20 |21

22123 (24125(26(27|28(29|30(3132(33(34|35(36

44. Mbl:Nc2::Sf3:[?] 44. Mbl:Nc2::Sf3:[?]
1) Qdl 1) Qdl
2) 0d3 2) 0d3
3) Re2 3) Re2
4)  Qe2 4)  Qe2
45. 26P19:32P13::24 N 17:[?] 45. 26P19:32P13::24 N 17:[?]
1) 34R15 1) 34R15
2) 30N 17 2) 30N 17
3) 29S16 3) 29S16

4) 28L15 4) 28L15

17
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46. GN17 : CR15 :: [?]:

1)
2)
3)
4)

fC6
cF9
cF4
bG8

Directions : (Questions : 47 - 49)

Study the following pie-chart and the table
and answer the questions based on them:

Total Population

eDS

City % of Illiterates
A 1
B 5
C 4
D 10
E 8

18

46. GN17 : CR15 :: [?] :

1))
2)
3)
4)

TRUWRND

3 8UNT 3

eDS
fC6

cF9

cF4

bG8

: (@%ﬁe‘?z : 47 - 49)

OV, STOADLT JINR Yoo

-
&&3% &'&qos%

snd

OTZTIT 3eIRTOT
N

1

A

B 5
C 4
D 10
E 8

~%¢ TR dReFITRY, VFHOHS =P




47.

48.

49.

Find the population of the city ‘D’ if
the population of illiterates in city ‘E’
is 3360:

1) 42,000
2) 48,000
3) 60,000
4) 78,000

If city ‘B’ has 540 more illiterates than
that of city ‘E’, What is the ratio of

literates to illiterates of city B?

1) 26:5
2) 56:9
3) 19:1
4y 13:7

What s the total percentage of illiterates
of the cities A, B, C, D, E?

) 2.8%
2)  5.06%
3)  28%
4 72%

19

NTSE GMAT P-1 (K-10)

47. sno ‘E’ S9% wﬁgdﬁ@d Kogs| 3360 w3

sng ‘D’T 25550936 TOW ROWD:

1) 42,000
2) 48,000
3) 60,000
4) 78,000

48. =nd ‘B’SQR ©=gTAT Rogdess snd ‘K’

SOR ©S30TON0S 540 Bes, ¥ B R

I TIHT TONR BTTTIT HNTOSHIY?
PO PO X]

1) 26:5
2) 56:9
3) 19:1
4y 13:7

49. A,B,C,D,E&rone wip ©33053 desm

- o
TR0

1) 2.8%
2)  5.06%
3)  28%
4y 72%
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50.

51.

52.

Two persons ‘A’ and ‘B’ are standing on
the circumference of a circular park with
centre ‘O’ and radius 14m, facing each
other, as shown in the figure. ‘B’ walks
22m in anti-clockwise direction and ‘A’
walks 11m in the clockwise direction
along the circumference. ‘B’ turns 90°
to his left and walks 14m. What is the
direction of ‘A’ with respect to ‘B’ ?

N

1) North West
2) North East
3) South West
4)  South East

A person travels 10m towards east
from ‘P’, then turns right to travel
6m. again turns right to travel 18m
to reach ‘Q’. What is the distance
between ‘P’ and ‘Q’?

1) 10m
2) 12m
3) 17m
4) 34m

What was the day of the week on 16th
July 1776?

1) Monday

2) Tuesday

3) Wednesday
4) Thursday

50.

S1.

52.

20

WZRY SReOALHOZ ‘0’ EOTITLT TN
14s0e 330008 FTEst YRR [ORCH
ed ‘A’ b3y ‘B’ dow Fgnewcs TTH
QTN Jo3TRT. ‘B’ o wI@e cozen
2230¢, "A’03n T eoson 11ke TOQO®
hed IR, J0=T B’ oo =7, 2R 90°
N 14sne SBodnTS. ‘B’ R Bowodamos
A’ owTHT D8, C3RTYTH?

N

1) o3
2) =g
3) I
4)  ©iieod

SEodey) ‘P’ 0omodRon Fp[rs R
100¢ 2302, wod 3TN 60e Josoedz TR,
So3T PYT: wog bn 18we @8O ‘Q°
WOTTR, ILePT. P’y "Q’ worony
SROT WoITRTY?

1) 10m
2) 12m
3) 17m
4) 34m

17763¢ QB0 zs:c% 163¢ 300080 O350
aaﬁmmgso?

1) RArezHzed

2) RONTmT
3) Fwe0
4) T



53.

54.

3S.

56.

On what date of March 2005 did second
Saturday appear?

1) 8

2) 10
3) 11
4H 12

First day of the year 2019 is Tuesday.
Which day would the last date of the
year 2020 be?

1) Tuesday
2) Wednesday
3) Thursday

4)  Friday

In how many of the three digit numerals
8 appears only once?

1) 920
2) 702
3) 353
4y 225

In a class there are 40% girls and 75%
of them passed in the exams. If the class
result is 80%, find the fraction of the
boys who passed the exam:

1) 23
2)  3/4
3) 45
4y 5/6

21

53.

54.

5S.

S6.
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20058¢ QINOH WIVWEFE 20NVT 03390
OTROITOT RTWIE BTeTNIZ?

1) 8

2) 10
3 11
4 12

20193¢ YITACH RATY AR THONRSTRTTRTT,
2020 S YBRNOH IWOD AT O3 T
TONTHTYTH?

1) =Donsgsmes
2)
3)
4)

LGP0
gV eNIvDle)
BT

8 NOW WOFOIL WOTE WOTH RO WTHT
THNRTY OBOD a@d zos%ﬁe?d?

1) 920
2) 702
3) 353
4y 225

20T STNSONY 3e.40 [PVICIOTVT.
Chield) waeg oD 3¢.75 WVIORTy enFR
%@O@mad'. QRc ITN303 FozoT
3¢.80 =33, waeg O SeNFEAIRT WV
2;)50);7@51?:03»353el TOTW LHROWO:

1) 273

2) 3/4

3) 4/5

4) 5/6
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57. A merchant bought S pens each at
I 8 and some more pens at 36 each. He
sold all the pens at X7 each and earns
a total profit of 310. How many pens
were bought by the merchant at 36?

58.

59.

1))
2)
3)
4)

The ratio of the ages of father and
daughter is 4 : 1. Ten years ago the
sum of their ages was 40. What is the
present age of the daughter?

)
2)
3)
4)

Answer the following question based
on the sequence of numbers / letters
given below:

10
15
20
25

20 years
15 years
18 years
12 years

57. 2 mémaoﬁo e I8 ToB 5 ﬁaﬁ:olmfsaq
BROWRY. Tonw FOR) ﬁm&mm& c{or)
36 To2 3pom, QTR ﬁmqﬁe;md c{or)
37 B8 =500 2.3 10 &, CogsEmei) JRTR.
3 mémaoﬁo 3o 36 To3 DT, ﬁaﬁ:&mm&

memcgs:?
1) 10
2) 15
3) 20
4) 25

58. 30T T Y SOHLF WHII 41 1 ¥NT.
B3 IRFY 208 BTOYT WY En3
40 &TS, Y BT BOPE IT?

1) 20=I=ensd
2) 15 3IFnsd
3) 18 =IRensd
4) 12 IIERD

59. 3 3R dnticom IIR moLne / wITnY
Tordod $Tesn Fed YvZDA!

538197426842791234721365163921347

If the sum of any two consecutive
numbers is the very next number, how
many times such numbers occur in
given sequence?

)
2)
3)
4)

8

11
13
15

22

clnYe oW LED HoLBne [ed)
WRQYNY 3T 0T Teols xoss"éoSnwc?,
82 Oe3On T, WoBNes SR pjehelenld)

WTLIR?
1) 8

2) 11
3) 13

4y 15
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60. If the first ten letters and last ten letters 60. Aockom Z ST sonpese $3s petacleM i)

of the English alphabet are written in BRTO T Tene ERNOH T, WITNERY,
the reverse order in the series from A ad:cgp Q33Q women, D ey T wione
to Z, then how many consonants will SRE QLT F[OWTFTNY [oS, OT?

be there between the letters D and T?

1) 11 1) 11

2) 12 2) 12

3) 13 3) 13

4) 14 4) 14

61. The missing number in the given 61. 32TIT TTHoHY VWY IRENTIT

sequence is: Rogs;:

9,12, 11, 14, 13, , 15 9,12,11,14,13,  , 15
) 12 1) 12

2) 16 2) 16

3) 10 3) 10

4) 17 4) 17

2 4 5
62. The next number in the sequence 62. B8 —, 1, —, — T =0T Zoas.:
1 TR 3B R %

2 4 5
Y37 7 337 9 is:
2
) —= 3
) 35 2 35
3 = 2
) NG 3) NG
4 4
4) 7 4) A

23
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63. The next number in the sequence 63. = 2, 6, 12, 20, 30, 42 Y =00l
2,6,12, 20, 30, 42 is: Boss;:
1) 86 1) 86
2) 42 2) 42
3) 56 3) 56
4) 66 4) 66

64. The next number in the sequence 04 =35 1 1 11 g swons goss;
81,54, 36,24

1) % 1) %
) ] ) 5
3) % 3) %
y L H
Directions : (Questions : 65 - 68) BRWIAL 1 (JJN 65 - 68)

Complete the given letter/word analogy by =~ 3RT0T Ty, FTOIRFOINALOT FO0INT
choosing the correct answer from the four  ¥VZCIR, GO ERYHLT WTT/ITNY DT INEw,

alternates given below: JpeerReP:

65. ACEG : DFHJ : : QSUW : 65. ACEG : DFHJ : : QSUW :
1) KMNP 1) KMNP
2) MNPR 2) MNPR
3) TQST 3) TQST

4) TVXZ 4) TVXZ

24
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66. FLO : MOC : : RDP:[?] 66. FLO : MOC : : RDP:[?]
1) MGP 1) MGP
2) NGO 2) NGO
3) GMP 3) GMP
4) MPG 4) MPG
2 30 222 2 30 222
67. 37+ 7% 30 67. 37 30
5 5
D D =
4 4
2) = 2)
5 5
3) % 3) %
6 6
4 = 4 —
68. 337, 211, 121, 25, 7 68. 337, 211, 121, 25, 7
1) 41 1) 41
2) 6l 2) 6l
3) 75 3) 75

4) 81 4y 81

25
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Directions : (Questions : 69 - 72) TRWING (@%ﬂ@o 69 - 72)

In the given questions there are four groups  3: 88 IPRYY J3cdromTYokwe Bosdnes/
of numbers / pairs of numbers / group of ®npeR ToBNe/WFTTNE Towy, MOTDRETY,
letters of which three are alike and one FREINT. VJYAYY ToRT> .0We DO

is different. Identify the one which is muozswdacl BROOLIH. WwOTH TN, awelmﬂd.

different: PIYFTRNTR TR, T3
69. 1) 216 69. 1) 216
2) 841 2) 841
3) 676 3) 676
4) 784 4) 784
70. 1) 616 70. 1) 616
2) 323 2) 323
3) 244 3) 244
4) 482 4) 482
71. 1) FNTNR 71. 1) FNTNR
2) MPTMV 2) MPTMV
3) UWYUZ 3) UWYUZ
4) FILFP 4) FILFP
72. 1) 1278 72. 1) 1278
2) 3197 2) 3197
3) 2389 3) 2389

4) 5298 4) 5298

26



73. At what time between 3 O’ clock and

4 O’ clock are the hands of a clock are

together?
4
1) 16 11 Minutes past 3
5 .
2) 16 7{ minutes past 3
6 .
3) 16 77 minutes past 3
3
4) 16 11 minutes past 3

74. What is the angle between the hands
of a clock at 15 minutes past 5?

A
2) 67%;
3) 58%§
4) 64%§

75. At what time between 4 and 5 will
the hands of a clock are mutually in
opposite directions?

1) 54% minutes past 4
6 .

2) 54ﬁ minutes past 4
5 .

3) 54ﬁ minutes past 4
6 .

4) 54E minutes past 4

27
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73. 3 ot =3 4 Mot BRI, 3T Bedod
RRRTE HTmR e 2,083 Shedromd
ATHI3?

A Soomne

11

1) 3 roe 16

2) 3 noed 16 i QENTINALD
11

6 aoomned
11

3) 3 moEl6

3 2o0xn
11

4) 3 noed 16

74. 5 R 15 AWITY 0% NRCIRTH RTH
SoHNY DAY BReTER?

)

25
2) 67%;
3) 58%;
4) 64%;

75. 4 Row 3y 5 rowch FHBIT IR
RHADTY AROIBTH AT oyt ISTT
DT, DBAYOBHIR?

) 4 o 54% QENRAD
6 -
2) 4 roE 54 AWTAD

3) 4 row 541—51 Q00T

4) 4 rog 54% Do0ERE
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Directions : (Questions : 76 - 77)

In the given equations find which of the

following interchange of signs/ numbers

would make the equations correct:

76.

717.

78

10+10+10-10x10=10

1) +and-
2) +and+
3) +and x
4) +and x

5+6 x3+2-4=6x4+2+3-2

1) Sand6
2) 6and3
3) 4and?2
4) 2and3

When - and %, 3 and 6 are interchanged
find which of the following equations

would be correct:
1) 6-3x2=9
2) 3x6-4=14
3) 3x6-4=33
4) 3-6x8=10

BRWIN : (WJned 1 76 - 77)

%fa%d:as Boezseans o3 zséelﬂeéo/xo:a%rie;mel
BTN WTLD TIRTIIN BEWCITTLOND xaommgd
aowwm‘i BOTDWROWD:

76. 10+10+10-10x10=10

)+ -
2) T+
3)  +@Ey x
4)  +F X

77. 5+6 x3+2-4=6x4+2+3-2

) 5308 6
2) 6 = 3
3) 4w 2
4) 233

78. %raégpaw FesTONSY — 0By X, 3 Ty
6 mfaﬂaq WD WRLL RNRBRTN O30T T
saommgcs aomwm‘* TOT ROWD:

) 6-3x2=9
2) 3x6-4=14
3) 3x6-4=33
4) 3-6x8=10

28



79. Seven persons Anil, Bharat, Chand,

80.

Dinesh, Eshwar, Ravi, Ganesh, who
have gathered at a picnic spot are
sitting in a row facing a photographer:

a) Chand and Dinesh are sitting next
to each other.

b) There are exactly four persons
between Bharat and Ganesh.

¢) Dinesh is sitting to the immediate
right of Bharat.
If Anil and Eshwar are separated
exactly by two persons then who
is sitting to the left of Ganesh?

1) Anil

2) Eshwar

3) Ravi

4) Chand

Four women A, B, C and D and four
men E, F, G and H are sitting around
circular table facing the center:

a) No two women or two men are
sitting side by side.

b) C,whois sitting between G and E,
is facing D.

¢) Fis sitting between D and A and
is facing G.

d) H is sitting to the right of B.
Then who is facing E?

1)F

2)B

3)G

4)H

29
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80.

NTSE GMAT P-1 (K-10)
AT, PTSE, WORT, ANZCDT, 8330, O,
ned® w0 TIw FFTY Fed w.ome

OTQ, W) ROINMTIFS AWOFQ
BPITHTT -

a) WORT FITY QNCFT VITFTY
BOSTLT.

b) TS @I nBe3T IR TO0IN
WY, WE SN, YTHTT.

€) QFeTF Q0WTT PTTF WTT WOLRNRT
TIRY BYSTLIT.
AT ) H1IJT°T ATNNE [WOF
BOCITRN BWTE [Inwh SR, 293TT,
nReT OTT A@FNTY  0IVT?
BOETHTIT?

) @e°

2) =30

3) 3D

4) O

A, B, C= D wow Sy, h&schdh e
E,F, G233 Hoow TOLY, TTLTTS 20w
7TTTT F0ewT WILW FeorepEiowmen
BOSTHT:

a) osnde azgpo P01 TINY T
QYT ToooR TN [T, TETQ
BOSTLRNY.

b) G E a3ne 8t 29w C
o3 DR @pm00mencees.

) D=y And S8 Faovdsy oz
G R =0T,

d) Bonst wogeng H 393thees.
Tomnd E 978 QmnthIT=m
C330T?

1)F

2)B

3HG

4)H
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Directions : (Questions : 81 - 84) TRWING (@%ﬂ@o 81-84)

Complete the given number analogy by  2rtiox Towy IoSmeed ¢WITRYOT FOSRT
choosing the correct answer from the four — ¢V3TRRy, o2, TR Toamw, TWIINER,

options given below: TREFRRPA:
81. 12:864::18:[ | 81. 12:864::18:[ |
1) 1624 1) 1624
2) 1824 2) 1824
3) 1260 3) 1260
4) 2916 4) 2916
82. 143:120::221:|:| 82. 143:120::221:|Z|
1) 168 1) 168
2) 189 2) 189
3) 196 3) 196
4) 220 4) 220
83. 3541:6874::2613:[ | 83. 3541:6874::2613:[ |
1) 2136 1) 2136
2) 5946 2) 5946
3) 5225 3) 5225
4) 6135 4) 6135
84. 6:149:142::7:[  |:[ | 84. 6:149:142::7:[ ]:[ ]
1) 165,158 1) 165,158
2) 198,205 2) 198,205
3) 201, 194 3) 201,194

4) 389,374 4) 389,374
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Directions : (Questions : 85 - 87)

The words are given under Column - L.
Their codes are given under Column - II.
The order of coding for the letters of the
word in the Column - I do not follow the
same order in the Column - II. Find the
codes for the letters of words in Column - I
and find the codes for the given words in
questions:

Column - II

gpf
nql
ecx
dknb
xlmq
bepx

Column -1

KIN
SON
AVE
DUST
LOAN
TAKE

85. ANKLE
1)
2)
3)
4)

pgqxmc
xXqpme
xXpqmec

xXqpcm

86. STUDENT

1) nbkdqch
2) pbdkqch
3) nxkdcbgq

4) nbdkcqgb

87. SOLUTION

1) nlmdbflq
2) nlmbdfql
3) nlmkbflq

4) Imnbdqlf
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BeuNne ¢ (JJned ¢ 85 - 87)
Ho-1 o I$R ITNER, deyd. 3 ITn¢
ﬂo#cs’n‘@‘mel oy -1l © F¢n 3.@&5353.
Bog-113 Bodesnsh You-1 S TRRYYS w3TReR
WDEHTNG. FoP-1 SYHT ITne wzsnen
BOBeITRy, FoR LR JJNEY deyhHm ITRYR
Bode3TRy, I

oy — 1
KIN
SON
AVE
DUST
LOAN
TAKE

How — 11

nql
ecx
dknb
xlmq
bepx

85. ANKLE
1) pgqxmec
2)
3)
4)

xXqpmec
xXpqme

xXqpcm

86. STUDENT

1) nbkdqchb
2) pbdkqch
3) nxkdcbgq

4) nbdkcqgb

87. SOLUTION

1) nlmdbflq
2) nlmbdfql
3) nlmkbflq

4) Imnbdqlf
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Directions : (Questions : 88 - 89)

There are five floors in a school building,
with one balcony in each floor. They are
indicated as 1st, 2nd, 3rd, 4th and 5th floor
from the ground. Four students A, B, C
and D decide to keep potted plants in the
balcony. Only one student is allowed to keep
a pot in one balcony. ‘A’ keeps a pot two
floors below where ‘C’ keeps and ‘D’ keeps
a pot one floor above where ‘B’ keeps. One
balcony is left vacant:

88. If°A’places the potin 3rd floor balcony
then, which of the following is true?

1) ‘B’ places pot in the first floor

balcony.

2) ‘C’ places pot in the first floor
balcony.

3) Second floor balcony is empty.

4) ‘D’ places pot in the fifth floor

balcony.

89. If second floor balcony is vacant, then
where ‘C’ can place the pot?
1) In the first floor balcony.
2) In the third floor balcony.
3) In the fourth floor balcony.
4) In the fifth floor balcony.

32

BRWIN : (JJned : 88 - 89)

WOTH TSN DT DTJRCH 6&5;355:4 TRONT.
TS DTRODOR WOW WO VW, IR,
Roton 13e, 23¢, 3¢, 43¢ Iy 53¢ DIR 0w
BREING. A, B, C =2 D oow am@rﬁe}o
TREH LRYICHY T ATHT WOBWIT, QB
DBFOTTIT. 2,08 me%ao:be:g mgpﬁ TR, 2.0T3¢
20T PORTR, BT ¥RHINT. ‘A’ cwn ‘C
NOZ 2 TR FENT ROICRY BOR ATV,
‘D’csx ‘B’Nog womd @R shedN wROICHY
BOR VADTYN. QST 555%05392 20T WO
SR YYAINIT:

88. ‘A’c3n 33¢ =R me%ao&eg BOT faégs
33 IPNTZNLY BRI TO?

)  ‘Bod® 2033 DIR  RQI0DNY

0T ABIT.
2) Codn wonEe TIB LPOIONY
DOT/ QROTS.
3) QTEIC DIB QD 00 WIRT.
4)  ‘D'odn 0T3¢ DDTIR  0000Y

ROT/ QROTH.

89. NTERe HIR RO 3390 9TI3, ‘C’o3n

saocsamq ) a&g&@é?

1) oxde TR 0.
2) BwRTIe DBB PR,
3) Tgse IR RO
4)  2ude DI VR



90. Take the given statements as true and

decide which of the following conclusions

follow logically from these statements:

Statements:

a. All mobiles are laptops.

b. No laptop is a tablet.

c. All laptops are supercomputers.

Conclusions:

I. No mobile is a tablet.

II. No supercomputer is a tablet.

III. Some supercomputers are tablets.

IV. All laptops are mobiles.

1) Only conclusion II follows along
with I.

2) Only conclusion IV follows along
with [.

3) Only conclusions II or III follows
along with 1.

4)  Only conclusion IV follows along

with II.
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90. 2YR IRLIHT Tewdnwd TO QO PR3,
O30 QEVFORNT) SodE TN mdmmegd
ezozmcss:el QAFEO:

Tewdned:

A QU BR[O I LRI D.

b.  oRYTe T ERT LT ©Y.

C. QU RIFRTNL BRTT
BOTREIT RTINS,

Qeerodnsd:

I. o) d.razﬁécf mséw DY,

I onlyde BRXcT oW/ E3ts®
DY,

II. 305 BRTT® BoTREITTNRL LN,

IV. oy comftmarned Selornsd.

)  Fewo deerodd I =g, I 39
YDIOIT.

2) Femo Jeerodd IV mmeE, 139,
YDTOMWIT.

3) Femo Jderodned Il exwme I
Bg [, oVROREEI.

4)  Fexmo JeeroRn IV @wg I 3

RIS,
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Directions : (Questions : 91 - 92)

In the questions given below the numbers
in the figures are related. Identify their
relationship and find the missing number
in the given figure:

TRWIND (@%ﬂ% : 91-92)

B3 SUR ERYITH gés;ﬁeécg 53 INSYT xoaﬁémﬁ
souozswsﬂ ROV, 33 xo:),.)ozssafwol mtha
T, WINATY WY TRCNTIT T0a303983,

BOTLROWO:

1 5 3
1.
’ © @
2 4 4 4 5 4
4) 144 4) 144
92,
? 44
4 26
5 20
8 14
1) 82 1) 82
2) 50 2) 50
3) 76 3) 76
4) 80 4) 80
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Directions : (Questions : 93 - 94) TRWIND (géesza :93-94)

Find the correct mirror image for the PLITHT FIUUYIOR TOCIRT TIFED FIVOUWRRD
. . Q 23 2
following problem figure choosing from the

BREITIT TOW, TOIIVEO3 WISNVOTW 03
given options: = 3 - i

ZR0:

93.

S

) 2) 3) 4)

e
@/4
T
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Directions : (Questions : 95 - 96) TRWING (@%ﬂ@o : 95-96)

Find the correct water image for the ALITHT TTUBAOR TOCIRE 5O TIWOWy,

following problem figure choosing from the 25 )
8300 TR, WSO WINYOT SO, TPRO:
four options: “ ¢~ on 3

BHDE

9s.

96. RjSk5LimQ't 96. RjSKk5LimQt
D BijSkrt1wot D EjSkri1wgot
2) KleKaRriwdgts 2) Blerriwot
3) Klek2Tiwdo¢ 3) Blek2aIriwdgt

4) Bl2kr1wQt 4) gl2rkari1wQt
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Directions : (Questions : 97 - 98)

In each questions given below a statement is
given, followed by two conclusions. Assume
the given statement to be true and decide
which of the given conclusions logically
follow from the statement:

97. Statement : If you are focussed and
disciplined, then only you will become
successful.

Conclusions : (I) One who is focussed
and has a disciplined mind can achieve
success.

(IT) Without discipline there is a
possibility of achieving success.

1) Both conclusions I and II follow.
2)  Only conclusion I follows.

3) Only conclusion II follows.

4)  Neither conclusion I nor II follows.

98. Statement : “High IQ (Intelligence
Quotient) is mandatory to become a

scientist”.

Conclusions : (I) All students with high
IQ become scientists.

(IT) A student with an average 1.Q. may
also become a scientist.

1)  Only conclusion I follows.

2)  Only conclusion II follows.

3) Both conclusions I and II follow.
4)  Neither conclusion I nor II follows.
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BRWIN : (IJned : 97 - 98)

IENT IINPQY wom> TevE ToIT QTS
QEIEOINT T, BRTUINT. BRITIS Iev?
TO QOT® PN CIRVT AVFONT) SodeTewon
msmmégcs @owwmel PO

97. FeeF @ Jew) DTNAE [IFY T
WHIPYIBOITT BRZ, 0DTZCIRYCO.

drarodnsh : (I) KwnB <3y OTT TR
eO¢ FI0%0 [ OHITRY, NPT T

(ID) 2% |YRZTe IT CHITRY, TRIW
mz%ad

) QewFodndd Ixy Il 2tww
ONTOMWESS.

2) 3RO Jrod I B[wE wDRORST.
3) %R0 Qrerod @508 oDROWST.
4)y QJFo3d [ ogxgzme Il ocsmrxm)owe

ORI OY.

98. Fedd : “RACITNRLY FVLITOEIT WOQ O
& o ® @

(IQ) 2B ©:I33.”
Qeorodnsd 1 (1) eved wHudd ma@eagp&adas
é)mz@?m?gzm amté@n%m:@&

(II) =ozeTes wc;pe:z%adaw am@som
ébmﬁ@oﬁmﬁuaada.

) 3em0 deerod [[g oo,

2) %R0 derod Il ST oDRORST.

3) QJwFoddngd @m0 I 2tww
OBOMWSS.

4) QeeFodd [ wgwme Il odnxm)ow

ORI OY.



NTSE GMAT P-1 (K-10)
Directions : (Questions : 99 - 100)

In the questions below, a problem figure is
given. The problem figure is hidden in one
of the figures given below. Pick the correct
option:

BRWIN : (JJned 1 99 - 100)

8 YR TeyLhT IJRYY womd TTUII,
3RYT. B TITT) SRLTHT TOSREODH 23N
P8 BPRPYTRC 2.0TTY WWNT. 33T T3 oD
USEY VT VTNT Q0T FOWLROWO:

99.
ST =
) 2) 3) 4)
100.
1) 2) 3) 4)
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